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t

Now we are read) to start' ., "

1. On which day of the wcer is this clialogue taking place'? ' :r

a) Sunoa'v

+ @ vonouu

c).luesdaY
d) WednesdaY

e) ThursdaY

g) satufda) , .- .r-., n,rw will they do it'l Match the sights and

I ' 'i'l''( l{} riSil otlC Slgnl a ud)' "' 
I

2.l|rhct]rounllrnrilld.':c:5lii;:i.;;;.ginMusco*unly3.lays'

fra**rrra""*t azz'azrE/-/

t0

2)

l)

a)S}'lgi)
b) Mondar'

c)'l r-rcstlttr

\ d1 Wcdttesoa;

.' r f hrlrsda)
L

i 1) f'rida)'----
I ,-, \ Satuf daY

3. Arc the Rroun childrcn tcellagers'l

a) Ycs

t 0 *" 
..' " r:..,.'-ino t() rllusrc h)'

4. At thc Bolslroi lhcutrc thc tlru\^ r)s uill bc listcning to

a) PYUtr Tchaik(\'sK'v

f' @ SttgtY Prokotter



Bcepoccniicxar o-rHMnHajla rrrKo.lbHrzKoB lo aH r...n.ticKov,f ,t.lF,rlit 202:l 2024 r,.r. r.
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Part 2

Il.eadinp (20 minutes)
Mu-rimum points - I5

I Read the text below. Then do the tosks thot follow.d0 the tosks thot follow.

l n on thc \l,r c

A. Dan and Sammr cannol berieve that thcv have to move away fr.om Frorjda. Floridais so
awesone! 1'he1'can plal outside all clal long cren day. It is almost aluays warm and sunny, and
all of their fiiends live there. What will the1, do without Brendan. Bailey. Jihn. Alexrs. and tsrian,l
They uill ncrcl harc srrclr grcut tiienris upiin. Ncreri

B. Horlerer. I)an ancl Sanrnrl arc rcrr excitcd lirr tircir tlad. Hc has a gilat ner. .job. l he only
problcnl is that thc.iob is irr Ncu Ilanrpsbilc. Samnrr rlas uot c\cn surc nhe rc this statc was
locatcd. Alier lcarning that it is uar up nortlr ncar ('anacla. bothbors did gct a littlc ercited about
playing in lhc snou. Sanrtlv has aluar s r.r'antcd tolearn to ski. and Dan think.s playing ice hockey
sounds like tiui.

C. Dan and Sammy also like thc location of New Ilampshirc. It is between lvlair.re antiVe.rnionr and
not far lrom lloston. Massachusetts. Quebec, Canada. borclers this statc on the north. Neither of the
bo1's has cvcr r isitccl this part ol'ihc countr'1 . so tl)c\ tu c nurr looLing lirr.r,r ar.tl lo c\plo119 a pc\\
alca. l1'onl1 thcrr lircnds coLlld cor.nc r.rith lhenrl lhcir parcnts havc pr.orrisccl lhat thc\,can \.lstr
thcirold iiicntls orcr splirrt hrertk irrttl .i en pu trr I)isncr World.'l hc lro1,s think that moving to
New Har.npshirc u ill nor bc so bad alie L all.

Task I

In rvhich paragraph can ue lind some inlbrmation about the lbllolr ing1,

l. Spons that l)an ancl Srntlt-r lrrt. irtcr.cstcr.l t, h +
2. Whcrc rhe hr,1: uill:pentl rlrcir>pring sehool holi.larsp *
3. The wearher in ljlorida fl -f
4. The state where thc bovs lirc nn* p *
5. The reason rvhl the trovs tiill havc lo move to a diflcrent ,to,., f,. -
6. Thqclimatc in \eu Ilanrpshirc /l 1



!
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l'ask 2
Answer the I'ollow ing questions:

c) Quebec

Task 3 
.

There are five American states that are mentioncd in thc text, F'ind them and putthem in
alph a bctica I o rdrr:

St"t" I-l

-A'' *' -lc t,
-Ta ' I

bnlt/4 lgt ,l
a) Florida

b) New l{ampshire
c) Maine

d) Vermont
e) Boslon

f) IV{ assac lr u se t ts

g) Quebec
h) C'anada

ll
t2
l3
t4
l5
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Part 3
Llse of [nslish (30 minutcs)

Mtuimum points - 35

Task I

Read the text below and choose the best answerfor each space.
for you.

r n, g i'l oi, ii i; d" ;;;'l
_l

/9
Y Example:

0 A was movirrq C r.r,ill move

(iina. .lu lius. anci l:ddr on []nclc Jint's lir ing roor.n fkror. [.]nc ic .l 
imsat

a rtd to dccidc how to work
(0) acloss lo\\ t't. thc kicls (l)
together to pack (2) tunclc's books.

"Julius. (-1) can start putting the books into boxes,.,Gina directed.

(s)
Eddy has

packed thcnr,"
"r (7) &) pack lhent." gir.rnrblecl t:ddr. "l \\ ant to u,atch '1 V."
"'l oo (ll) . Eddl ." said (iina. " (9) job is to pLrt the booksinto

the boxes. 'fhcn I ( l0) thc boxcs sirut. flnd.lulius r',ili carrl thcnr out.""lhavca(ll) idca.'I:dd1 dcclared.
"Eddy l" (iina anct.tujius (12)

brother.
said as tliel' skrod up. annoyed withtheir

"(18) ?" [:ddy crclaimed.
Gina crusscd her lrrrrs and ( l9) her cycbrous. "Fine. I gucss l'llpack,

(20) &l'fl t 'shc saitl.
I:dd1 srrilcLl. llc cliekccl rhc i V rernotc and rraitcr.l lor his sister r. linish lilling

ntoVe

Moving Day

"No." Julius v argued. "t rhink l--ddy @ fhn * do
it's best il'l carr) thr' hor,.'s to thc car (6) - ''

that. I'm the

rltt I''\[e 1131 ]y/il- ht /lt -.o )olr ll.url to warch lV." (iina said. ..bur L.inclc 
.l.im

(14)_r our he lp rodal ."

. "l knr-,rr'|" l:ddr r.csponclc.d. "l \\ant to hclp, llou ahoLrr (tS) # * vt,uput lhc htrrrks ir)l(, (h( h()\cs rnd | (16) .. _the h,,,*.,.; t,riiol* irh rop.L 
' ''

Eddy then clraggcd a box ol'hook: u. (imE--ccnrer o| the living room. He
lblded downthe llaps on Lhc to;r trl rlrc [.rox in u.11*ffi ir"-u[.1. ui.,d finish"d by tuckiirghalf of the last
one under the first one.

a box.
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I

I
t

3

will try'

their

before

don"t want

both

have known

havc closcd

Complete these analogies:

Example:
0. Hand is to arm as foot is to

3. Red is 10 stoP as green Is to

they-re

havc tried

thert

ou re

strongest

bad \\orse

\ OLl

anl

not want

while

ncctls

rrisen

lng

better

knou'

Io nccd

it'

to r':lose

Watch

Task 2

-t-
Answer: leg

l. Quack is ttr tluck as bark rs v' dry 
--

2. Shoe is to lbot as hat is to (/

4, Happv is to sad as LIP is ttr

5. Fur is t0 cal as I'cather is to-

6. Poodlc is to dog as applc it * fiti.l
7. 'l eacher is to school as cloun is ttt

8. Book is to read as song is to-3
9. Child is to children as mouse is to v

1
!
9

io

do ra ant

jworst

lvour

10. Nlgfrt is to moon as daY is to SW
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'['ask ]

In these sentences, the word in capital letters is not complete. lt is missing three letters. These three

letters are all lext to eaoh other, in the right order, and spella three-letter word. Find the three-letter

word which should be used to completeeach word and make the sentcncc complete.

Examplc:
-l'he boy tellover in tlte I)(iROt..lNI)

a) ARf
b) ner
c) LAP

d) nav
e) lev
Answer: e) LAY (Pl.AYGROtlNt))

l. The childrerr thoug,ht thc pitrl)'was lrAS I l( .

f

",

b) eNo
c) rAN
d) rx
e) Htt

We' uatched a wonde ltirl plar at the l llRl:

a) A ll--

(!)-]!v
c) fEA
d) ANr
e) TAN

f

3. The chel'prepared the tbod in the Kl'l (1.

' 
a ) lc'll
b) ACE

{ /6i;r-i)' Y.-:::::-)-
d) utr
e) HAr

4. Tle CHgnS let the stude n1s play games al break 1itle.

a) n( lr

b) tct

+ c2-ly)d) Hil
e) TAN

5, She r,rnfhstened the lONS o1-lrer coat

a) BAr
b) BHf
c) Bll*ffi


